OBELBIHERUVBHEONRILFMERIRFHER

HE - BBENERIDSRE (BBR)
%1 - 2 %B {‘ /\ é%*ﬁ
1/ 17IR=)
sEmE BEFLIE () T ) BB () HEHR (ko4 5" 41493 3ng-TEQ/ ) BHE e/ IR
it
B K& Ejj%
T Tk =5
g WHET gy | mm | ook [oxm | ok | o e | am | = [ & |en| xs | 5P| wm | mm | ent [ EFD| o | em
5 w | @ o
|@Esa KR EY ss| 9] 1t 2| s8] ol of e o 9 30| 7568 0 of  7008[ 16232 of 1e232[ 24141
7oy 7R 1 1 2 1 0 0 0 1 1 1 0 0 0 0 0 60 0 60 60
sl T 0 1 ol ol o of of o 1 1 0 0 0 0 0 12 0 12 12
a7 5 Y LB RO ZDKAMELE al 3 7l 4l o of o] 4] s 3 28 0 0 0 28| 2490 of  2a90] 2518
N7oYVIBEETFIL 2 3 3 1 1 0 0 2 3 3 1 9 0 0 10 79 0 79 89
8|7 LB X FIL 1 i 2| 0 1 of o i i 1 0 13 0 0 13 1200 o 1200 1213
olroym=ruyn 3 1 S E 1 of of 4] 1 4463 2 0 of 4465 1000 o 1000 5465
157+ 75y 1 1 1 1 0 0 0 1 1 1 180 0 0 0 180 410 0 410 590
18l7=1 > 2 2 4 2 0 0 0 2 2 2 50 0 0 0 50 2700 0 2700 2750
2002—73X)xTH9)—)L 2 8 9 2 0 0 0 2 8 8 160 0 0 0 160 89629 0 89629 89789
287 YIFILa—Ib 1 0 2 1 0 0 0 1 0 0 18 0 0 0 18 0 0 0 18
30|E8E7) p#)p&yﬁyz;[{j—\y@& VZED 0 3 3 0 0 0 0 0 3 3 0 0 0 0 0 228 0 228 228
B (PILFIVEORFHAS10N514F
COLDRUVZDEEWICRS, )
N7 VFEVRUVCFDIEEY 5 14 18 5 2 0 0 7 14 14 44 3 0 0 47 22234 0 22234 22281
B|aHE 0 2 2 0 0 0 0 0 2 2 0 0 0 0 0 21057 0 21057 21057
3|3 -4 Y TF NAFIL—3, 5, 5— k 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
DAFI7ANFUIIN=4AV T R—b
3714, 4’ —4‘/7°|:|I:')7-/~/71/—)l/ 1 2 6 1 0 0 0 1 2 2 1 0 0 0 1 6650 0 6650 6651
(B&EERT7 T/ —ILA)
41137 —qyFOREFL—2— R~y )40 0 1 1 0 0 0 0 0 1 1 0 0 0 0 0 830 0 830 830
;%w&yXT:UH(%%7wh5:w
7|0 —TF)I=0— (6—=hO—x%— K 0 1 1 0 0 0 0 0 1 1 0 0 0 0 0 30 0 30 30
DIV) =€hV ) =TFIVRARILT I
FFA7—F BIHTHIIKR)
Blo—TF)I=0—-4—=rOTz=)=7]| 15 1| s o 15 0 of 15 0 1 0 969 0 0 969 0 1 1 970
TZ)VKRA/FAT—b (BIBZEPN)
BEHHFRE : HHI0SFERE




OBELBIHERUVBHEONRILFMERIRFHER

HE - BEISCRIORET (BER)
% 1 - 2 %B {‘ z \ é%*ﬁ
2/ 11R=)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
-7
B kit Eﬁ%
T Tk AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw

= k| B %E
BN—- (1 —zF)LFOEL) —2, 6 - 0 1 1 0 0 0 0 0 1 1 0 0 0 29 0 29 29

—ha=-3, 4-F2 Iy BERVT

YD)
BlzFiryvEy 350 40| 355 350 1 0 o 351 40 40| 177910 0 177910 89225 o] 89225 267134
selTFLYAFS R 1 0 2 1 0 0 0 1 0 0 1 0 1 0 0 0 1
571l zFL v &) a—IILE/ITFILIT—FI 1 1 1 1 0 0 0 1 1 1 12 0 12 4 0 4 16
NTFLYITIY 2 0 2 2 0 0 0 2 0 0 2 0 2 0 0 0 2
61 N' —IFLYER (YFAAINI 0 1 1 0 0 0 0 0 1 1 0 0 0 2600 o] 2600 2600

yﬁ@) XVHY BTV RT)
5ltrrooe Ky Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
681, 2—TRF*>7ONY (BlEEETO 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0

=)
MRS =TIFILT /)= (FILFILED 0 1 2 0 0 0 0 0 1 1 0 0 0 5 0 5 5

REHENBDEDICR D,
5[ RIYARVZDILEY 14 5| 92 3l 13 0 ol 16 5 5 27 281 308| 12643 o] 12643[ 12951
80| L v 388 57| s05| 388 1 0 o| 389 57 57 258767 0 258767 130991 o| 130991 389758
82[sR RO 7 DACEMIL A Y 1 0 3 0 1 0 0 1 0 0 0 0 0 0 0 0 0
83[o X v 2 1 2 2 0 0 0 2 1 1 12 0 12 39 0 39 51
84[7 ) ¥4 — )L 0 2 2 0 0 0 0 0 2 2 0 0 0 2308 0 2308 2308
86| LY —I 1 1 4 1 0 0 0 1 1 1 7 0 7 110 0 110 17
87[/ O ARV =l A LAY 26 29| 122 4 23 0 of 27| 29 29 50 409 459| 109592 of 109592] 110051
88[75ff 2 O LB Y 17 71 9 ol 17 0 ol 17 6 7 0 165 165 18280 o| 18280 18445
UlropnzFLy (RLELLE=ZIL) 1 1 1 1 1 0 0 2 1 1 2300 0 2300 370 0 370 2670
%(1—[[2—[2—v0Q—-4— (4—% 0 1 1 0 0 0 0 0 1 1 0 0 0 7 0 7 7

AO7z/%Y) 7x=)0] —4—XF)

-1, 3=UFFVYSIU-2—-A)L] XF

V] —1TH=1, 2, 4= 7= (

Bleayrr/arJy—I)
98|~ o OEEEe 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0

BRHEFE  SH0SFE




OBELBIHERUVBHEONRILFMERIRFHER

e - BENSERIDEE (BER)
xR1-2 #HEFRR - £2%E
3/ 1IR=2)
sEmE BEFLIE () T ) BB () HEHR (ko4 5" 41493 3ng-TEQ/ ) BHE e/ IR
B
BT Tk o
7] 0&
g WHET s [ mm [ op | xm | ok | m s | ent | 2= | Kk |en| s | B8P | 1w | mx | ax [EFZ| o | ewm
s w | & B
1002 —sog—2" , 6 —YIFIL—N-— of 2| 2| o of of of o 2 2 0 0 0 266 0 266 266
(2=7ORF>TFIL) PFEMNTZUKR
EEILFZoO-))
01|2—-—so0—2", 6" —YITFIL—N-— 0 1 1 of of of of o 1 1 0 0 0 93 0 93 93
(XhFIXAFI) PELTZU R (3%
7Z70—))
1031 —so0—1, 1=-Y740T4 Y ( 1 1 1 1 0 0 0 1 1 1 200 0 200( 90000 o] oo000| 90200
BIZHCFC—142b)
ml2—»on0—-4, 6—Ex (TFILT7I) 9 ol s6 0 9 0 0 9 0 0 0 20 20 0 0 0 20
) =1, 3, 5=RUTIY (RIEIIY
Y RIFCAT)
15|14 — (2—4#O@7z=)l) —N—>40O 0 1 1 0 0 0 0 0 1 1 0 0 0 86 0 86 86
AFVIL-N-IFIL—4, 5-YERD
—5=AXY—1TH=FF5V—JL—1—
ANRFHIR BIBRTIVASHIR)
123|3 —soo 7O~y (B&ELETYIL) 1 0 2 1 0 0 0 1 0 0 140 0 140 0 0 0 140
125 ooRyEY 5 4 6 5 1 0 0 6 4 al 2018 1 2919 149500 o| 149500 152419
127(/ oaRiL L 4 4 6 4 1 0 0 5 4 4 1645 1 1646] 26700 o] 26700] 28346
128|700 x4y (BIZEIEXFIL) 1 of 2 1 of of o i 0 0 630 0 630 0 0 0 630
132N NRUFDILEY 2 10 15 0 2 0 0 2 10 10 0 37 37 3803 0 3803 3840
133|@R 2 — T hFoTFIL (BIZTFLYY 2 2 2 2 1 0 0 3 2 2 18 3 21 34 0 34 55
JA—WVE/IFNI—FINTET—})
134 (B2 =)L 2 1 3 2 0 0 0 2 1 1 100 0 100 260 0 260 360
14almis 7oay GEERoyFUBEE| 9] 7| e | 19] o]  of 20 6 7 27 427 454 6566 i 6567 7021
<. )
147N, N—=STFLFAHHINI VES — 12 o] 86 o 12 0 of 12 0 0 0 131 131 0 0 0 131
—7DDNVDN(%%?#A/b)7
BRXVFAH—T)
148IN, N—YIFI—-3— (2, 4, 6—F 0 1 1 0 0 0 0 0 1 1 0 0 0 61 0 61 61
YXFILTTZIVRIKRZIL) —1TH—1
y 2, A=RKYTYV—=ILb—1—AILRFxY
IR BEHZVRbO—))
149|mig b R ol of s| of 6f of of 6 o 0 0 13 13 0 0 0 13
BEHHFRE : HHI0SFERE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEd - BEERIDEE (fRBR)
F1-2 #WEFRR  £KE
(4 / 11R=)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
it B
B K& Eﬁ%
T K =K
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
el w | & BE
150(1, 4—AFH> 18 1 87 1 17 0 0 18 1 1 390 350 740 52000 0 52000 52740
152|1, 3—YAINEAILFA—2— (N, 0 1 1 0 0 0 0 0 1 1 0 0 0 320 0 320 320
N=UXFNTI/) —7aRy (Bl&A
Ly v )
a4l s aOnEo LTIV 1 0 2 1 0 0 0 1 0 0 1600 0 1600 0 0 0 1600
16|07 =yY v 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
15711, 2—osOQxTéy Yy 14 3 90 4 1" 0 0 15 3 3 7671 28 7699 55810 0 55810 63509
1881, 1—vsOoOzFLy (REELE= 13 1 87 1 13 0 0 14 1 1 6600 135 6735 5900 0 5900 12635
V7v)
16913 — (3, 4—vsOA7zT=)) —1, 0 1 1 0 0 0 0 0 1 1 0 0 0 5 0 5 5
1 —IXFIVERR (Bl&BYvAYXIEDC
MU)
172|13— [1—= (3, 5—<4sO0@7T=)) 0 1 1 0 0 0 0 0 1 1 0 0 0 1 0 1 1
—1—=XFILIFIL] —3, 4—YE kRO
—6—XFJ—5-Tx=J—2H-1,
S—FFHIv—-4—-Fv RlELTFHY
JsaxXKRY)
174|3— (3, 4—-ys0O07z=J)L) —1— 0 3 3 0 0 0 0 0 3 3 0 0 0 2619 0 2619 2619
x;#>—1—x%»@$(m%u:zu
v
179(1, 3—voon7 o~y (A4&D—-D) 6 o] 84 0 6 0 0 6 0 0 0 13 13 0 0 0 13
B|CryoaRvEy 3 4 4 3 1 0 0 4 4 4 6200 43 6243| 215650 of 215650| 221893
182(2— [4— (2, 4—ys0ORyVML 0 2 2 0 0 0 0 0 2 2 0 0 0 172 0 172 172
) =1, 3=UXFI-5-EFVY)LF
FV] 7MY BIBESVFY T
)
1834 — (2, 4—vOoarRvy4IL) —1 0 2 2 0 0 0 0 0 2 2 0 0 0 39 0 39 39
, 3=YAXAFI—-5-EZVYI=4—+
WITV 2N F—b BIBRESYL—b)
185| s oaRyy 7i4A070/.8y (B&H 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
CFC—225)
186|lvsoOxXyy (Bl&aEIEAFLY) 36 17 13 24 16 0 0 40 17 17 140261 147 140409 412083 0 412083 552491
188N, N—ovsO~nxv)L7Iv 2 3 3 1 2 0 0 3 3 3 32 436 468| 12880 o| 12880 13348
HEHERE « SHI0FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - RBEDERIDKE (RBR)
x1 -2 #HEFRR - £%7E
(5 / 17R—3)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-1
E| T T 2
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 w | B
1|y raRve STy 2 1 3 2 0 0 0 2 1 1 330 0 0 330 180 0 180 510
19111, 3—-YUFAS5v—2—q)FvvOv 0 1 1 0 0 0 0 0 1 1 0 0 0 0 1500 0 1500 1500
%9477D5»(%%4V7D%#5y
w3y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
07|2, 6—V—H—SvY—TFFI—4—4 0 4 5 0 0 0 0 0 4 4 0 0 0 0 2556 0 2556 2556
LY —v
2102, 2—TOE—2—-VF ) FPEMNTS 0 1 1 0 0 0 0 0 1 1 0 0 0 0 1 0 1 1
N
23N, N=UXFLFPERrT7IR 3 5 5 3 1 0 0 4 5 5 400 160 0 s60[ 33910 o] 33010] 34470
28| XFITIY 4 1 5 3 2 0 0 5 1 1 217 3 0 220 340 0 340 560
2| xF=4, 4 — (FNh—T1=L 0 1 1 0 0 0 0 0 1 1 0 0 0 0 200 0 200 200
¥) EX (3=FA7rO77F—hF) (Bl
BFAT 7R XFI)
20[N— (1, 3—=UxFLTFL) =N’ — 0 2 2 0 0 0 0 0 2 2 0 0 0 0 5350 0 5350 5350
2TV NR5-TI=LYITIY
22N, N—=UXFLRILLTIR 1| 2] 8] 14 3 0 ol 17| 12 12| 21985 541 o| 22526 57539 ol 57539  s0065
232 — [ (UXNEVHRRT 4/ FAAI) 0 1 1 0 0 0 0 0 1 1 0 0 0 0 82 0 82 82
FA] —2—-T7 VBT FIL (BI&7
Y PI—bXFPAP)
27| KEB RV Z DS 16 2| toof 12 5 0 i 18 2 2 24 5 2 31 733 0 733 764
20| 2 FL v 16 12 20 16 1 0 0 17 12 12 20982 0 0 20982 5787 0 5787 26769
22| L Y RUOFDILEY 15 2 87 1 15 0 0 16 2 2 38 645 0 683 203 0 203 886
23|54 A %E 78 36 96 57 35 0 4 96 36 36(938.51023|21. 607667 8060]9020. 117970985. 558 0]70985. 558 80005. 676
713 7422 048722 74277 74277] 6476422
245|F A PR3 1 4 5 0 1 0 0 1 4 4 0 170000 0 170000 31389 0 31389 201389
248(F A4 Y ABBO, O—YITFIL—0— (2— 0 1 1 0 0 0 0 0 1 1 0 0 0 0 210 0 210 210
AVT7OEL—6—XFI—4-E)IY
=) RIBIATYIY)
»51|F1ryARO, O—UxFIL—0— (3-— 0 1 1 0 0 0 0 0 1 1 0 0 0 0 340 0 340 340
AF—4-=tO7z=)) (Bl&ETx
—hOFFYRIIMEP)

HRHEE : fSH0SFE




OBELBIHERUVBHEONRILFMERIRFHER

Hr - B ENERI DA (BER)
%1 - 2 %B {‘ /\ é%*ﬁ
6/ 17_=2)
stgimE REBEFL) L2 () BRI () HHHIR (ka/ 5 414978 idng-TEQ/ ) BIE Ko/ T v
-1
T TK3 =5
g ME £ gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
= w | E BE
2577 A /= (REEH 1T ODEDICRS 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
o) (BUIETAH/—I)
258[1, 3, 5, 7T—FrS7HRrYSoO [ 0 5 7 0 0 0 0 0 5 5 0 0 0 3892 0 3892 3892
3.3.1.1(3, 7)]17Av (5%
AEPAFLYTFISIY)
259|F RSTFIFISLTZILT 14 K (RE 0 1 1 0 0 0 0 0 1 1 0 0 0 5300 0 5300 5300
PRI 4 TL)
260 hSHyOOqvZIA=RNYIL (BIZS 0 2 2 0 0 0 0 0 2 2 0 0 0 1947 0 1947 1947
Q0% A=JXFTPN)
26114, 5, 6, 7T—Fh3v004YRVY 0 1 1 0 0 0 0 0 1 1 0 0 0 24 0 24 24
z;y—1(3H)—1y(%%7ﬂ34
26217 v o000 F LY 12 3 86 2[ 10 0 of 12 2 3 4100 70 4170 2980 0 2980 7150
26517 RS E ROXFILEKTYILE 1 3 3 1 0 0 0 1 3 3 940 0 940 9207 0 9207 10147
266|2, 3, 5, 6—FrSTINAO—4—X 0 1 1 0 0 0 0 0 1 1 0 0 0 0 0 0 0
FIRY U= (2) —3- (2-400
-3, 3, 3—#U7wju—1—7n&
ZI) =2, 2=SXFLToOTANY
ANREYZ—b (BlHTIIEY V)
268|F RS AFILFISLTRILT 4 K (B% 12 4] 88 1 1 0 0 12 4 4 1 43 44 2582 0 2582 2626
FOSLRIEFS L)
27015 L 7 & ILER 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
NFLI7YIEES A FIL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2REAKAMIE (BEIEAIR<, ) 35 3 99 1 35 0 0 36 3 3 130 4919 5049 2428 0 2428 7477
2B3[1—=RFH/ =1L (BB /ILTIL—RFTY 0 1 3 0 0 0 0 0 1 1 0 0 0 21 0 21 21
LT3 —I)
2I5|RTFUIEREEF N ) ™ A 0 2 2 0 0 0 0 0 2 2 0 0 0 13 0 13 13
2171\ NY =FIL T 9 10 17 9 1 0 0 10 10 10 1213 2 1215 149720 0 149720 150935
279(1, 1, 1—rY4O@TYY 14 of 84 of 14 0 of 14 0 0 0 1910 1910 0 0 0 1910
28011, 1, 2—NYvOQOxT¥dY " 1 85 1 " 0 0 12 1 1 5 39 44 250 0 250 294
281 ysoQTFLY 21 8 94 10 1 0 0 21 7 8| 64751 70 64821 27984 0| 27984 92806
HRHEE : fSH0SFE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - RBEDERIDKE (RBR)
xR1-2 #HEFRR - £2%E
(7 /11R=2)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
ity 7
B K& Ejj%
T Tk AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
s w | H o

20y pOORVEY 0 1 1 0 0 0 0 0 1 0 1 0 0 o 22000 ol 22000 22000
NI 2 1 2 2 1 0 0 0 1 2 0 2 2 0 2 420 0 420 422
29| M LA TV 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
00| ML Y 406 72 409 406 4 0 0 410 72 0 72 702050 58 702108 1281371 0 1281371 1983479
o2(FT7H LY 6 7 9 6 1 0 0 7 7 0 7 5361 220 5581 7478 0 7478 13059
308w L 2 8 22 1 2 0 0 3 8 0 8 0 9 9 13961 0 13961 13970
09— rILbEY 17 19 28 3 15 0 0 18 19 0 19 40 320 360 16866 0 16866 17226
2|t h—=hO7=y > 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
36|= pORVEY 1 1 1 1 0 0 0 1 1 0 1 2 0 2 1900 0 1900 1902
38| =R biRE 2 0 3 2 0 0 0 2 0 0 0 12000 0 12000 0 0 0 12000
20(7LFILT T /=l (FLELEDRES 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

DODEDICED. )
R21|NF T ALY 2 2 4 1 1 0 0 2 2 0 2 10 40 50 190 0 190 240
323[2, 4—FP2 (ZTFLFI/) —6-—XF 0 1 1 0 0 0 0 0 1 0 1 0 0 0 31 0 31 31

LVFA=1, 3, 5=hITIY (RIES

XbhUv)
3252 (8—%/Y /S K) 4R (REA*S 0 1 1 of of of of o 1 0 1 0 0 0 600 0 600 600

VX S B HEER)
328|E2 (N, N=UXAFILIFAAINIY 1 1 2 1 0 0 0 1 1 0 1 10 0 10 1200 0 1200 1210

B) @iy (Bl&HY 5 L)
39|F 2 (N, N=UAFILSFARINI Y 0 1 1 0 0 0 0 0 1 0 1 0 0 0 1700 0 1700 1700

B) N, N —IFLYEZ (FAHLN

):E’f)l/?-d'ﬁﬁ’:}) (Bl&RY A—"X—}
3R|MERVZDERILSY 23 4| 8 3| 22 0 o 25 4 0 4 139 2824 2964 2158 0 2158 5122
33l RST Y 4 1 " 3 2 0 0 5 1 0 1 7 35 4 180 0 180 221
M7= 1 0 1 1 0 0 0 1 0 0 0 120 0 120 0 0 0 120
gy y 1 2 4 1 1 0 0 2 2 0 2 1 1 1 12600 0 12600 12601
msleorsFa— @grFaI—) 0 2 3 0 0 0 0 0 2 0 2 0 0 0 4900 0 4900 4900

HRHEE : fSH0SFE




OBELBIHERUVBHEONRILFMERIRFHER

1. HEH - BEIERIDEE (RER)
®1—2 #FWERRR - 2%
(8 / 171R=Y)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
BB
B K& Eij%r
T K =K
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= | & B
Mloxz=LvTTIY 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0
7/ —IL 9 9 18 7 2 0 0 9 9 9 19687 32 19719 214770 214770 234488
/O3 =T/ FIRVYIUIN=3— (2, 2— 0 1 1 0 0 0 0 0 1 1 0 0 0 4 4 4
ToOaE=) —2, 2=UAFLVY
O7anxyALRFSS—b (BRI A
2]
BT HIIEES TFIL 1 0 3 1 0 0 0 1 0 0 8 0 8 0 0 8
BT HIVEBER (2—ITFILAFII) 2 5 8 2 0 0 0 2 5 5 363 0 363 10995 10995 11358
358 N—'9—°/-\"U—7“9'-)l/—N’ —_ (4—1 0 1 1 0 0 0 0 0 1 1 0 0 0 61 61 61
FILRYY M) =3, B—IAFIRY
VERSYR BI&TTIT/IR)
B61|7F)= (R) —2—[4— (4—=>TFJ 0 3 3 0 0 0 0 0 3 3 0 0 0 162 162 162
—2-=7)0A407x/*%Y) 7x/%Y]
)7°|:| Ex+r—hF (Bl&NOKy TTFIL
3692 — (4—9—>vY—TFTFITT/)F> 0 1 1 0 0 0 0 0 1 1 0 0 0 330 330 330
) YranFv=2-7FO=)L=2J)
7)4 v b (BE7O/Fy RXIEBPP
S
3743 o (L KER VU ZF DKBEE 54 131 109 11 49 0 0 60 13 13 1799| 106486 108285| 142781 142781| 251066
SBIN—T MFIAFIL—2—-200-2" , 0 1 1 0 0 0 0 0 1 1 0 0 0 28 28 28
6 —JIFLTEMTZUR (BI&ETH
s 0—Jb)
384| 1 —7“|:|:Ej°|:|/\°*/ 18 6 18 18 0 0 0 18 6 6 89930 0 89930 11850 11850 101780
38512 —JOESO/NY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
36|17 OFEAY Y (REBELLAFI) 1 0 1 1 0 0 0 1 0 0 560 0 560 0 0 560
BANFHFUINRNYAFLTVEZIL=Y 1 0 1 1 0 0 0 1 0 0 1 0 1 0 0 1
aykr
3VAFHAFL YIS TIY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
PIAFHAFL Y=Y TR—b 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0
392INxH v 321 13 324 321 2 0 0 323 13 13 139741 6 139748 18221 18221 157969
BEHEE - SFI0SEE




OBELBIHERUVBHEONRILFMERIRFHER

1. HEH - BESERI DKE (BER)
®1-2 #MEFRH -  £2XE
(9 / 17R=%)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
-7
B kit EJ%
T Tk =5
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= k| B %E
3B(REFT =L 0 3 4 0 0 0 0 0 3 3 0 0 0 4105 0 4105 4105
395[ R LA F Y ZHEER D KRS 1 2 4 0 1 0 0 1 2 2 0 9 9 1100 0 1100 1109
3BINY)=s01) K (BIRBIERTYII) 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
39NV ITIILTE R 1 0 1 1 0 0 0 1 0 0 9 0 9 0 0 0 9
400(~ ¥ 306 1| 38| 295 12 0 o| 307 1 1 6778 67 6845 430 0 430 7275
LUK ANV i i Y 0 1 1 0 0 0 0 0 1 1 0 0 0 12 0 12 12
405(1F > =LY 67| 23] 116 9| 64 0 o| 73| 23 24 416 63501 63917| 60451 2| 60452 124369
406|7/R) FBILET =)L (BIRPCB) 4 1 86 0 4 0 0 4 1 1 0 5 5 7700 0 7700 7705
407|RY (x> ITFLY) =FILFILI—F 2 6 10 0 2 0 0 2 6 6 0 151 151 3048 0 3048 3199
W (TIVFIVEDRFEN1 20515 F
TCRELDRVZDEEWICIRS. )
408Ky (AFx>ITFLY) =FIFILTI= 0 2 2 0 0 0 0 0 2 2 0 0 0 1693 0 1693 1693
WI=FI (FLFIEDKRBEN8DE
DICRZ, )
09K (AFPITFLY) =RFVIILT—F 0 1 1 0 0 0 0 0 1 1 0 0 0 3 0 3 3
VREBTZTIVF R DA
4108 (AF>TFLY) =7IFIT= 2 3 4 1 2 0 0 3 3 3 200 21 411 1460 0 1460 1871
WI=FI (FILFIEDKRENIDE
DICERB, )
MR LT ILTE R 14 ol 2| 14 1 0 o 15 9 9] 11884 2 11886 50828 o| 0828 62715
MTVHYRVTZEDLEY 50 25| 121 5 46 0 0 51 25 25 13 38836 38948| 343843 0| 343843] 382791
43|87 5 ILER 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0
45| X 4 5 Y )LEE 4 4 6 3 1 0 0 4 4 4 3 5 8 572 0 572 580
420X 5 2 Y )LEE A FIL 8 3 9 8 1 0 0 9 3 3 4124 28 4152 253 0 253 4405
RIIN=—AFIVAINIVEET —FT7FI)L (B 0 2 2 0 0 0 0 0 2 2 0 0 0 258 0 258 258
BHANNYIIIENAC)
ABIN=XFIIFFHNNI VB (BlEH— of f 9 o o op 0 ! 0 0 0 ! 0 ! !
INL)
43B(XFIFTHL Y 64 2| 71| 64 0 0 o| 64 2 2 7692 0 7692 1900 0 1900 9592
BRHEFE  SH0SFE




OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (BER)

®1—2 IEERFRR - 2%7E
10 / 17_—=%0)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
e B
g | T Tk o
7) =a
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
s mo| & B
439|3 —XFIEYDY 1 0 1 1 1 0 0 2 0 0 0 12 9 0 0 21 0 0 0 21
MBIAFLVER (4, 1—T1x=LY) =Y 2 4 17 2 0 0 0 2 4 0 4 26 0 0 0 26 753 0 753 779
1Y T7E—h
9|3 — X RS ANRZNTI ) T =)= 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 320 0 320 320
3" —XFIALN=ZF—F (BIETTV
AT 4T 7 L)
B3l ) TFVRUFDILED 2 8 16 1 2 0 0 3 8 0 8 31 32 0 0 63 3526 0 3526 3589
61|V ABEN) 72T =)L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 290 0 290 290
4774, 4’ —FFIEARVEVZIKRZI 1 1 1 1 0 0 0 1 1 0 1 16 0 0 0 16 390 0 390 406
l: FSIR
522[1, 1, 2, 2—FhkSs0OxT4> (3 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
%@ﬁm FLY)
B57[AFI =RV AZIHS—)b—=2—=1)VH 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 59 0 59 59
WA= BIBRANRV I L)
564|742 Y JLEE2 —TFILAF UL 0 1 3 0 0 0 0 0 1 0 1 0 0 0 0 0 30 0 30 30
565(7 4 1) JLERE S 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
566| 7P VEE. (N— (2—73/TF)) 1 0 1 0 1 0 0 1 0 0 0 0 8800 0 0 8800 0 0 0 8800
I9v—1, 2—-IYP7IVUREN, N —
E2 (2-73/IFL) THV-1, 2
—JF7Iv) &2— (VOEXFI) FF
YV DEREY
567| 7O EVEEY — 2 —TFIAFUI 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 73 0 73 73
SIM|3—F7YAFxS—1, 2—RUVAYF 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 9 0 9 9
TV=I—=1, 1=IZFFI R (B&70
RFJ—=))
56| 7 hHY—1 =TIV (FILHYOEED 1 0 1 1 0 0 0 1 0 0 0 35 0 0 0 35 0 0 0 35
BE#HTHY. B2, HFETILA Y DRFEH
A8, 10, 12, 14, 16XE18D
LORUVZDREMICRS, ) . (Z) —
F05FH-—9-TU—1-FIVRV (
92, 122) —#9557Hn—-9, 12—
JIV—1-—F7IVHEFICINLDEEN

HRHEE : fSH0SFE



OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (BER)

®1—-2 #EFRER - 2%(%E
11/ 17R=3)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-7
g | T Tk o
na WAL g | mm |2 | xa | o |t |mu [ast | 2 | & |ast| x5 | 28F | 2w | mx | an | B®E| Ko [ awm
57| 7 hy—1 -7 3y (FILHYOEEN 1 2 3 0 1 0 0 1 2 0 2 0 1300 0 0 1300 8600 0 8600 9900
BHTHY., HD. HETILH Y DRRE
A8, 10, 12, 14, 16XE18D
LEORVTDREMIRD, ) DAFTS
vEMIY., (Z) —F949T7H—-9—-I
V=1=TIVO0FFISVERMPKRS
(92, 122Z) =4#9497#H—-9, 12
—JIV—1-FIVOFFTSVERM
MODEEY
518|777 =TI FI—FAHF-—EROF> 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 2874 0 2874 2874
R (AFx>xH2—1, 2=I14)) (
TIVFINEDRRBN1 6051 8FTD
HDORUVEDEEYTH> T, BMIEHLF
M1, 000KEDEDICRS, ) RV
FILT7 =TT —F A A—EROF
YR (FxPTHV—1, 2—=4))
(P ZIVEORFHEN 16051 8F
T@E@&U%@E MThH>T, HFEH
AFENT, 00 0KBDOEDIIRD, )
BICIhSEDEEY
580|777 —FIFIL—FdAH—E ROE 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 180 0 180 180

E

R (FFx>TFL V) (FILFILEDRKR
RHDINSTT1TEFTCOEORVZDRE
MTH->T. WEHLFEHNT, 000K
HDEDICES, )

i
3]

58

TILFIL (RVII) (AFI) PUE 1 2 2 0 1 0 0 1 2 0 2 0 48 0 0 48 21 0 21 259
ZVLDE (FILFIEDRREA, 1 2
516FXTOEDORUZTDEEMICRS,

SNTFIIL7aONTH Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

52(5 —TF)—5, 88—k RA—-8—%F 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 21 0 21 21
v—[1, 31 ¥#*%vno [4, 5 gl
¥/ Uv=T7- HILVRVEE (RlgAxV1

—v )

BU|TFLYSYA—IE) TFILI—FI ( 4 4 6 4 0 0 0 4 4 0 4 11012 0 0 0 11012 10244 0 10244 21256
& 7FItavILT)

55|TF LY T I VBRI FDAY Y 1 2 4 0 1 0 0 1 2 0 2 0 25000 0 0 25000 1104 0 1104 26104

LIERCF MY LIG

HRHEE : fSH0SFE



OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (BER)

®1—2 IEERFRR - 2%7E
12 / 17R—=%0)

stgimE REBEFL) L2 () BRI () HHHIR (ka/ 5 414978 idng-TEQ/ ) BIE Ko/ T v

e
E
®

D
e

NS o | an | mmwm | TRE| L
/'; 125 :tj% kA =18 % ~D (=)

! WE AT s | mm | 20 | x5 | ax | 1= | 2 | a5
& %H

i
=
o
E'IE
>t
b}
E'I!

597\ b EE/NS T 1 v (REHENT14H51 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 o| 25000 o| 25000 25000
TETOEDRVZDESHICES., )

5O8|IERBE NICEFDHY I LERUF RY D 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
L

604l A= TFLSFA AT — 0 2 3 0 0 0 0 0 2 0 2 0 0 0 0 of 14100 o] 14100 14100

605| ) h— N QICFDT YV EZY LS, 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 900 0 900 900
A4V 7aELT7IVIE. A D LERTS
NN

606|1 — (2—/0043%Y [1, 2—a] 0 3 3 0 0 0 0 0 3 0 3 0 0 0 0 0 140 0 140 140
SU—3—A LK=LY —3=(
, B=UXRFIEYIVY-2-1)
=& AxV22)708Y)

608 O0—5—->90/RYFILA 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 208 0 208 208
Aoz =)) —5—q4VY
-1, 3—FAFHYVYvv—
Y (RIEARY NEHTY)

N-\’\I\‘r ﬂ%r

610] ( 5—4#O0—-N— (1, 3—% 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 60 0 60 60

1, 3—#'))‘9'-”/’(‘//\“/
4—A)) —1, 3=IUXFI
ESY—L—4—hILRFHIR

75X MNEJL)

I—‘I

614 3—7|:||:|—N— (4, 6= AREIPE 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 270 0 270 270
JXOU—=2—AIJAINNEAIL) —1—
AFI—4— (b—=XAFJ—5, 6 —-Yk
kO—-1, 4, 2= FFHT—-3—49
L) ESYV——5-2KYTIR (3
ZXHY2)70av)

615|3— (2—»OoO—1, 3—FF7Y—JL— 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 157 0 157 157
B—AJAFI) —5—XFI—N—=F}
a—-1, 3, 6—#xH4o7IVFrr—4-—
12V (BIEFT7ANEHL)

616| (E) —1— (2—%@0O0-1, 3—F7 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 250 0 250 250
V=Ib=85—=AIAFI) —3—XF)—
2)—:#!:17‘?:9‘/ Bl OFT7=Y
v

HRHEE : fSH0SFE



OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (BER)

®1—2 IEERFRR - 2%7E
13 / 17R—=%)

s&mE BEEEFH() B AR (1) BB (1) HEH R (ko/ 22" 414948 idng-TEQ/ %) BRI ko/TES SV
B 75
T K3 =&
na WA pun | e [ e | xm [ ok |t [mu | e | 2 | ok [est| x5 [ SEF | 1w | mx | am |ER2| Ko | am
&S | @ A BB B
617|kS>YZ—N= (6—4O00—-3—-tY-< 0 i i of of of o o 1 0 1 0 0 0 0 0 12 0 12 12

P
JWAFI) =N =T /) —N—XAFIT
EhT7IVY RIBRTESIITYER)

618[1— (6—400—-3—EYILXFIL) 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 26 0 26 26
“N—=pOASIF/YIY -2 F
73> BIBASF507YE)

1)

A

620 2—/00-— 4—)(~/)[,—3—|:( 0 3 3 0 0 0 0 0 3 0 3 0 0 0 0 0 88 0 88 88
ERATSY—2—qI%KNFY)
I RYYAIL] voankyy—1
oxv FETI7VILN) T V)

’

| SJl—

'’
’

oI |V
W7 |

62113 — (2—20O0—4 =X )RVYA) 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 1310 0 1310 1310
) —4—Jx=Z )AL TrFZIEYSO [
3. 2. 1] #9494 -3—-—xTv—2—-Fv

BB~ YES ZOY)
66|y —TIY 1 5 8 0 1 0 0 1 5 0 5 0 170 0 0 170 5858 0 5858 6028
Il TFLYIYa—LES TFILI—FI 3 4 6 3 1 0 0 4 4 0 4 7924 280 0 0 8204 2737 0 2137 10941
629~ v OAFH Y 6 3 9 6 0 0 0 6 3 0 3 1614 0 0 of 11614 3821 0 3821 15435
31| sanFty 2 1 2 2 1 0 0 3 1 0 1 36 5 0 0 41 11000 of 11000 11041
632(1, 2—vso@TFL Y 13 o| 84 of 13 0 ol 13 0 0 0 0 260 0 0 260 0 0 0 260
634|3, 4—voop—-2° —->F7/—1, 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 72 0 72 72

—FF7V—=I—5—AILRFH= Uh(%
214V FT=I)

636|0— (2, 6—400—/85—KMYJL) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 300 0 300 300
=0, O—UAFII=KRRKFAFFT7—
(B1& ML R XFIL)

63711 — (2, 4—40O007zx=Jl) —N— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 140 0 140 140
(2, 4=Y7)407x=)V) —N—41
vyoElL—-5—*%v—-4, 5—-YENR
O—1H-1, 2, 4—NYPJ—)L—4
—ﬁw¢#ﬁ R (B4 F7 TV hIN

')

638N— (3, 5—<som7z=J)L) —1, 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 60 0 60 60
2—UXxF)vonrany—1, 2=
ANKRELIRN RBIEFTOVIRY)

HRHEE : fSH0SFE



OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (BER)

®1—2 IEERFRR - 2%7E
(14 / 17_—=%)

s&mE BEEEFH() B AR (1) BB (1) HEH R (ko/ 22" 414948 idng-TEQ/ %) BRI ko/TES SV
B 75
~a o
e mE AT s | mm | 2o | x| ok | wm |mer ae | B | & aer| xn | 98P | xa | mn | e | 2R | T0 | aw )
m | @ B
640[2 — (2, 4—/OO—3—AFILTT of 2| 2l o o of of of 2f o 2 0 0 0 0 0 223 0 223 223
/¥Y) FOEAVT=Y R (Bl&BX
ZOov )
643[puF fYmL=5, 8—FR (ALKRSF 0 1 1 of of of of o 1 0 1 0 0 0 0 of 4500 o 4500 4500
A7R) =2, 5.8, 11, 14—RY
BTHRVITHVER (FAT—H)
646|N, N—UFOEILFA DN VE=S 0 1 i of of of of o 1 0 1 0 0 0 0 0 39 0 39 39
—NYI) BIBTARINVKAINT)
648| (4S, 4aR, 5S, 5aR, 6S, 1 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 95 0 95 95
2aS) —4— (YAFLFPI/) -3,
5, 6, 10, 12, 12a—~FHER
O%Y—6—XF—1, 11-IUdFY
—1, 4, 4a, 5, 5a, 6, 11, 1
2a—-#s9EROT MY =2
REYS N BT RS RS>
656[2” — [ (RS) —1, 3—UXFLTF 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1 0 1 1

A\
'3
\.l.\
\V-
) [,

J] —=5—=7)40-1, 3=
SYV—=Il—4—-HIKRFH=ZY K (BlER
VoI T V)

660N’ — [1, 1—=UAFI—2— (AFI 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 550 0 550 550
Z2IHE=Z)) TFI] —3—3—K—-N-—
[2—XF)—4-T[1, 2, 2, 2—7F
NSz)bA0—1— (MY ZIAOXFIL
) IFN] 2x=0] AT IR (B
TRV IFTIR)

661(1, 2—U X RELTHY 1 1 2 1 0 0 0 1 1 0 1 770 0 0 0 770 180 0 180 950

662|7IT7— (4, 6—IAMNFEY—2-F 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 33 0 33 33
DI SZWALNEAILZLT 7 EAIN)
—ZFI b =RMILAIVBBAFIL (BlERV R
oAy AFIL)

663 (RS) -7 - (4, 6—9‘)( |~:\:~‘/t°I) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 160 0 160 160
IVV=-2—ANWNFF) —3—AFII—2
—RvYI75v—1 (3H) =4V (&
Yo%) KR)

665 1) I ARUVCFDILEY 2 1 3 2 1 0 0 3 1 0 1 1242 " 0 0 1253 5600 0 5600 6853

HRHEE : fSH0SFE



OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEVERIDEE (BER)

R1—-2 #HERFRR - 2%
15 / 17_—=%0)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-1
E| T T 2
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 w | B

666|5 1) ™ LRV Z DS 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(U AVARES 0 7 8 0 0 0 0 0 7 0 7 0 0 0 0 0 892605 0 892605 892605
668|ER ) F U L 1 0 3 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1
67415 o ROV 7 5 8 7 1 0 0 8 5 0 5 1197 120 0 0 1317 69930 0 69930 71247
6775 kS AFILFYE=Y L=t KOXxI K 2 3 4 2 1 0 0 3 3 0 3 1 2 0 0 3| 31187 ol sus7[ 31160
9= RUEDILEY 0 1 3 0 0 0 0 0 1 0 1 0 0 0 0 0 66 0 66 66
6821, 3, B—RrYFPIV—2, 4, 6—h 0 0 1 0 0 0 0 of o] o 0 0 0 0 0 0 0 0 0 0

V73> BIBAFTIY)
885(N— (hUvBOOAFILFA) —1, 2, 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 580 0 580 580

3, 6=FrSEROTHLAIR (BI%

v 7o)
687|N Y XFILT IV 1 0 1 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
688| N XFI (A FFTUI) PYE=Y A 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 100 0 100 100

DiE
BN Y AFIILRVEY 320 9 455 320 0 1 0 321 9 0 9 16990 0 6 0 16996 7053 0 7053 24049
603[RyX hFo— [3— (AFLSv—2— of 2| 3] o of of of of 2 o 2 0 0 0 0 0 13 0 13 13

AIARFY) TOEIL] V5V
69|+ RS A=FIT Y RILKF—F (FI 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 7 0 7 7

TUDRREN14HH16FTDEDRK

CZDREEMICRS, ) REF M)V L=

EROFITPILAYZRILEF—K (TIVA

SORFBNTA4D5 1 6 X TOLDRY

%@ﬁﬁ%[méo)IUﬂlanEﬁ
7[R T DIEA Y 22| o] | 4f 2 0 of 25| 8 1 9 235 924 0 0 1159] 18994 o| 18994 20153
698[= Ny m=EERER O ZTDF N YUY LE 1 3 4 0 1 0 0 1 3 0 3 0 550 0 0 550 8000 0 8000 8550
699,85 K LT ILFE R 1 0 2 1 0 0 0 1 0 0 0 1 0 0 0 1 0 0 0 1

HRHEE : fSH0SFE



OBELBIHERUVBHEONRILFMERIRFHER

1. HEH - BESERI DKE (BER)
xR1-2 #HEFRR - £2%E
(16 / 17R=Y)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
-1
B | T TKE 2
7] =a
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= w | E BE
T0|IER (ZILFIV) (IAFI) TYEZD of ~of 1] of of o of of o0 0 0 0 0 0 0 0 0
LD (FILFILEOBENEHETHY.
MO HETILFIVEDQRELAN 12, 1
4, 16, 18RIF20DEDRUVZDE
EWICIRS. )
05|z (2, 2, 6, 6—F KRS AFIL—4 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
—EXRYIN) =tnNT—h
708 (1 —bkOFs ToHY—1, 1=40 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
) VRAKRVBECICZDOAY D LBRY
FThUDLE
0|79 IIWEES # 7 FIL 0 1 1 0 0 0 0 0 1 1 0 0 0 2 0 2 2
TN\ —S % Y —TFI=2 —ITFI)ILR)LAF 0 1 3 0 0 0 0 0 1 1 0 0 0 2 0 2 2
InFH/T—h
7202 = —> v Y —TKNFOTH ) —)L 1 1 2 1 0 0 0 1 1 1 9700 0 9700 200 0 200 9900
73|13 —7OFE—N—[4—/0O00—-2—XF 0 1 1 0 0 0 0 0 1 1 0 0 0 20 0 20 20
W=6— (XFIAILNEAIN) 7T=)L
1-1—-(3—sppoEyyv—-2—-4JL
) —1H-ESY—)Jl—5—hILKRFH3
P BEsO5v 5= Fa—)b)
25|~k RkOo—-1, 3, 5—hYR (2— 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ErROFYTIFIL) —1, 3, 5—-h U7
Ty
NiNFH I RSYUR 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BINNT YV 255 5 255 255 0 0 0 255 5 5 174 0 1Ma 35550 0 35550 52691
736 [ K EFES 1 2 4 1 0 0 0 1 2 2 0 0 0 12120 0 12120 12120
BINAFIAY TFILT MY 13 10 15 13 0 0 0 13 10 10 15710 0 15710 6985 0 6985 22695
|2 —AFIFA—4—TFIF7I/)—6— 0 1 1 0 0 0 0 0 1 1 0 0 0 230 0 230 230
(1, 2=UXFNTOELTI/) —s
—hITIY BIBRVAIXA LY V)
745 (RS) —1—XFJ)—2—=—t+O—-3— 0 1 1 0 0 0 0 0 1 1 0 0 0 1600 0 1600 1600
(FFZERO=3=TUJLAFIL) JT
=y BT I/TIFV)
TABIN—XFJ)—2—-FEOY R 3 7 9 3 1 0 0 4 7 7 4 6400 6404 319233 0 319233 325637

HRHEE : fSH0SFE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEVERIDEE (BER)

R1—-2 #HERFRR - 2%
17 / 17R=3)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
Hits- 15
B K& Ejj%
T K3 AE
i1 B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 | ® BE
753|idE (2, 4, 4— MY AFILRYFY) 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 o| 42700 of 42700 42700
TOAITRER S X F I 1 1 1 1 0 0 0 1 1 0 1 1 0 0 0 1| 18000 o 18000 18001
A&t 3390 832| 6315| 2785 694 1 5] 3485 826 7 833| 1824668| 446368 6 2| 2271045| 5728793 41 5728797 7999842

HRHEE : fSH0SFE




